[image: image1.png]





RDMOTO CZECH REPUBLIC



info@rdmoto.eu


www.rdmoto.eu

CF16
Aprilia Pegaso 650´92-´95
Fitting kit:
	ID
	Description
	Cat.No
	Qt;

	1
	Crash frames
	-
	2

	2
	Dural. spacer d=18mm
	1108
	2

	3
	Bolt M10x70
	851
	2

	4
	Bolt M10x80
	852
	2

	5
	Washer M10
	804
	6

	6
	Washer spring M10
	801
	2

	7
	Nut M10
	810
	2

	8
	Plastic. cover 
	X4
	2

	9
	3M Tape
	-
	2

	10
	RDmoto stickers 
	-
	2


Fitting instruction:

1. Crash frames assembly the rear (side frame) with screws and washers ID.3, ID.5 and ID.6. Place the cylinder ID.2 under the frame. Place a spring washer under the bolt head first.

2. Stick 3M tape on the place, where is frame touching with frame.
3. For tighten the frames front the engine using bolts ID.4. Under the screw heads put pads. To tighten use the washers and nuts ID.5 ID.7

Caution: When installing, we recommend using glue on the threads (blue color).


 

[image: image2.jpg]


[image: image3.jpg]




































2

